

## RELATÓRIOS DE PESQUISA E DESENVOLVIMENTO

JANEIRO DE 1999

Nº 03/99

*An Asymptotic Formula for the Distance  
Between Some Transition Curves of  
The Quasi-Periodic Mathieu's Equation*

Leon Sinay\*

\* Associated Laboratory of Combustion and Propulsion – LCP of the National Institute for Space Research  
– INPE (sinay@yabae.cptec.inpe.br). Professor visitante no LNCC, Janeiro de 1999.

# AN ASYMPTOTIC FORMULA FOR THE DISTANCE BETWEEN SOME TRANSITION CURVES OF THE QUASI-PERIODIC MATHIEU'S EQUATION

LEON SINAY\*

**Abstract.** In this work we determine explicit formulas which give the asymptotic distance between transition curves  $\lambda^\pm(\varepsilon)$ , bifurcating from  $\lambda = m^2, \lambda = m^2\omega^2$ ,  $m$  a positive integer, in the  $\lambda - \varepsilon$  plane, along which there exist bounded solutions of the quasi-periodic Mathieu's equation  $\ddot{x} + (\lambda + \varepsilon(\cos t + \cos \omega t))x = 0$ .

**Key words:** quasi-periodic, Mathieu's equation, Floquet theory, perturbation methods.

**AMS subject classification:** 34, 34D, 34E, 34D08, 34D10, 34E10

## 1. Introduction. Mathieu's equation

$$(1) \quad \ddot{x} + (\lambda + \varepsilon \cos t)x = 0, \quad (') = \frac{d}{dt}$$

generally associated with the problem of stability of many physical phenomena, is a well known subject on which there exists a vast literature [1],[2],[3]. The properties of its solutions can easily be described applying Floquet's theory and, in particular, those of the transition curves  $\lambda = \lambda(\varepsilon)$  which separate regions in the  $\lambda - \varepsilon$  plane where all the solutions are bounded from those where there is at least an unbounded one. A rather simple modification of (1), in which  $\cos \omega t$ ,  $\omega$  irrational, is added to the driving term, leads to the quasi-periodic Mathieu's equation

$$(2) \quad \ddot{x} + (\lambda + \varepsilon(\cos t + \cos \omega t))x = 0.$$

In a recent article of this journal [4], Zounes and Rand discuss the transition curves of (2), giving some analytical as well as numerical results. The purpose of the present work is to give an explicit, asymptotic formula for the distance between the curves corresponding to the normalized solutions which bifurcate from the points  $\lambda = m^2$  and  $\lambda = m^2\omega^2$ ,  $m \geq 1$  integer, when  $\varepsilon = 0$ . Here we employ a combination of power series and Fourier series, a method already utilized by Levy and Keller for the Mathieu's equation [5], reducing the problem of solving the differential equation to a sequence of linear algebraic ones, a device which allows us to explicitly find the asymptotic distance between the curves.

**2. Power series-Fourier series solution.** When  $\varepsilon = 0$ , the solutions of (2) with period  $2\pi/m$  and  $2\pi/m\omega$ ,  $m$  a positive integer, satisfying  $x(0) = 1, \dot{x}(0) = 0$  and  $x(0) = 0, \dot{x}(0) = 1$ , are  $\cos mt$  ( $\sin mt$ ) and  $\cos m\omega t$  ( $\sin m\omega t$ ) provided  $\lambda$  takes on, respectively, the values  $\lambda = \lambda_0 = m^2$  and  $\lambda = \lambda_0 = m^2\omega^2$ . The goal of our investigation

---

\* Associated Laboratory of Combustion and Propulsion-LCP of the National Institute for Space Research-INPE (sinay@yabae.cptec.inpe.br). Rodovia Pte. Dutra, Km 40, 12630 - 000 Cachoeira Paulista-SP, Brazil



is to determine curves  $\lambda = \lambda(\varepsilon)$  on which (2) possesses bounded solutions and the distance between them. To that end, we shall consider first the case  $\lambda_0 = m^2$ . In order to find an asymptotic solution of (2), we use the regular perturbation method[6], setting

$$(3) \quad \begin{aligned} x(t) &= \sum_{n=0}^{\infty} x_n^{\pm}(t) \varepsilon^n, \\ \lambda &= \sum_{n=0}^{\infty} \lambda_n^{\pm} \varepsilon^n, \quad \lambda_0^{\pm} = m^2. \end{aligned}$$

Here, the superscript  $\pm$  will differentiate the even from the odd solutions. Substituting  $x(t)$  and  $\lambda$  in (2) by (3), collecting powers of  $\varepsilon$  and equating their coefficients to zero we obtain:

$$(4) \quad \ddot{x}_0^{\pm} + m^2 x_0^{\pm} = 0,$$

$$(5) \quad \ddot{x}_n^{\pm} + m^2 x_n^{\pm} = - \sum_{j=1}^n \lambda_j^{\pm} x_{n-j}^{\pm} - (\cos t + \cos \omega t) x_{n-1}^{\pm}.$$

Let

$$\begin{aligned} x_0^+(t) &= \cos mt, \\ x_0^-(t) &= \sin mt. \end{aligned}$$

Several properties of the solutions of (5) can easily be deduced from the structure of the equation itself, namely:

1. Being  $\lambda_j^{\pm}$  constant in the first term of the right-hand-side, the corresponding particular solution is of the same type the  $x_{n-j}^{\pm}$  are. i.e., it is a sum of the same harmonic functions which define  $x_{n-j}^{\pm}$  but with, possibly, different coefficients.
2. The product of  $x_{n-1}^{\pm}$  by  $\cos t + \cos \omega t$  adds and subtracts 1 and  $\omega$  to the harmonics of  $x_{n-1}^{\pm}$ , but not both at the same time. For example, the product  $(\cos t + \cos \omega t) x_0^+$  contains terms of the form  $\cos(m \pm 1)t$  and  $\cos(m \pm \omega)t$ , and therefore so does the solution  $x_1^+$ . It is also illustrative to see what happens when  $n = 2$ , i.e., with the product of  $x_1^+$ . In this case, the additions and subtractions have two main effects, on one hand one has  $\cos(m + 1 \pm \omega)t$  ( $\cos(m - 1 \pm \omega)t$ ), on the other hand,  $\cos(m + \omega \pm \omega)t$  ( $\cos(m - \omega \pm \omega)t$ ). Applying this reasoning recursively, it follows that  $x_n^+(t)$  is a sum of terms of two different forms:  $\cos pt$  and  $\cos(q\omega + l)$ ,  $p, q, l \in \mathbb{Z}$ . Although the subtractions may generate negative coefficients of  $\omega$ , one can always make them positive, changing  $l$  by  $-l$ . Evidently that proper care of the signum must be taken in the case of  $x_n^-(t)$ .
3. It follows from the discussion in the previous item, that the integers  $p, q$  and  $l$  satisfy  $\max(0, m - n) \leq p \leq m + n$ ,  $|l| \leq m + n$ ,  $1 \leq q \leq n$ .

The immediate consequence of the properties above is that we can write

$$(6) \quad x_n^+(t) = \sum_{p=0}^{m+n} \hat{u}_n^+(p) \cos pt + \sum_{q=1}^n \sum_{|l|=0}^{m+n} \hat{v}_n^+(q, l) \cos(q\omega + l)t,$$

$$x_n^-(t) = \sum_{p=1}^{m+n} \hat{u}_n^-(p) \sin pt + \sum_{q=1}^n \sum_{|l|=0}^{m+n} \hat{v}_n^-(q, l) \sin(q\omega + l)t.$$

Since the operator on the left-hand-side of equation (4) has a non-trivial kernel, the solutions of (5) are not unique. In order to solve this indeterminacy, we shall impose the condition

$$(7) \quad \hat{u}_n^\pm(m) = \delta_{n,0}$$

where  $\delta_{n,0}$  is the Kronecker delta.

Substituting  $x_n^\pm(t)$  in (5) by (6) and equating like harmonics, we obtain

$$(8) \quad m^2 \hat{u}_n^+(0) = - \sum_{j=1}^n \lambda_j^+ \hat{u}_{n-j}(0) - \frac{1}{2} \hat{u}_{n-1}^+(1) - \frac{1}{2} \hat{v}_{n-1}^+(1, 0),$$

$$(9) \quad [m^2 - p^2] \hat{u}_n^\pm(p) = - \sum_{j=1}^n \lambda_j^\pm \hat{u}_{n-j}^\pm(p) - \frac{1}{2} [\hat{u}_{n-1}^\pm(p-1) + \hat{u}_{n-1}^\pm(p+1)] \\ - \frac{1}{2} \hat{u}_{n-1}^\pm(0) \delta_{p,1} - \frac{1}{2} [\hat{v}_{n-1}^\pm(1, p) \pm \hat{v}_{n-1}^\pm(1, -p)],$$

$$(10) \quad [m^2 - (q\omega + l)^2] \hat{v}_n^\pm(q, l) = - \sum_{j=1}^n \lambda_j^\pm \hat{v}_{n-j}^\pm(q, l) \\ - \frac{1}{4} [(1 \pm 1) + (1 \mp 1) \operatorname{sgn}(l)] \hat{u}_{n-1}^\pm(|l|) \delta_{q1} \\ - \frac{1}{2} [\hat{v}_{n-1}^\pm(q, l-1) + \hat{v}_{n-1}^\pm(q, l+1)] \\ - \frac{1}{2} [\hat{v}_{n-1}^\pm(q-1, l) + \hat{v}_{n-1}^\pm(q+1, l)].$$

Choosing  $p = m$  in (9) and using (7) we have:

$$(11) \quad \lambda_n^\pm = -\frac{1}{2} [\hat{u}_{n-1}^\pm(m-1) + \hat{u}_{n-1}^\pm(m+1)] - \frac{1}{2} [\hat{v}_{n-1}^\pm(1, m) \pm \hat{v}_{n-1}^\pm(1, -m)].$$

## 2.1. The distance between transition curves.

LEMMA 1. If  $n < m$  then:

- a)  $\hat{u}_n^+(p) = \hat{u}_n^-(p) \forall p > 0,$
- b)  $\hat{v}_n^+(q, l) = \hat{v}_n^-(q, l) \quad \forall q \text{ if } l \geq 0,$   
 $\hat{v}_n^+(q, l) = -\hat{v}_n^-(q, l) \quad \forall q \text{ if } l < 0,$



c)  $\lambda_n^+ = \lambda_n^-$ .

*Proof.* The lemma is trivially true for  $n = 0$  because  $\hat{u}_0^+(p) = \hat{u}_0^-(p) = \delta_{p,m}$ ,  $\hat{v}_0^+(q, l) = \hat{v}_0^-(q, l) = 0 \forall q, l$  and  $\lambda_0^+ = \lambda_0^- = m^2$ . (15)

Let us suppose it is also true up to some  $n = k < m - 1$  then for  $n = k + 1$ , we have in (11):  $\hat{x}_k^+(m \pm 1) = \hat{x}_k^-(m \pm 1)$  and from item 3 in page 2  $\hat{y}_k^+(1, \pm m) = \hat{y}_k^-(1, \pm m)$ , therefore  $\lambda_{k+1}^+ = \lambda_{k+1}^-$ . This and the assumption, using (9), imply  $\hat{u}_{k+1}^+(p) = \hat{u}_{k+1}^-(p)$ . In order to prove the properties of  $\hat{v}_{k+1}^\pm(q, l)$  we observe in (10) that, due to the assumption, they are automatically satisfied when  $q \neq 1$  and  $l \geq 1$  or  $l < -1$ . In the cases  $q \neq 1$ ,  $l = 0, -1$  we have that the first term as well as the last four terms in the right-hand-side of (10) are zero because  $\max(0, m - k) = m - k > 1$  and the second term is zero because  $\delta_{q1} = 0$ . If  $q = 1$  and  $l \geq 1$  or  $l \leq -1$  the results is again immediate. If  $l = 0$  then  $\hat{v}_k^\pm(1, -1) = 0$  resulting in  $\hat{v}_{k+1}^+(1, 0) = \hat{v}_{k+1}^-(1, 0)$ . If  $l = -1$ , all but the second term are automatically zero, the right-hand-side of (10) is thus reduced to (16)

$$-\frac{1}{4} [(1 \pm 1) - (1 \mp 1)] \hat{u}_k^\pm(1),$$

which proves the lemma.  $\square$

A first difference in the coefficients appears, besides the sign when  $l < 0$ , when  $n = m$ . Namely,  $\hat{u}_m^-(0) = 0$  while  $\hat{u}_m^+(0)$  is not necessarily zero. It is not difficult to prove by induction that this difference propagates in the values of  $\hat{u}$  and  $\hat{v}$  from  $n = m$  and  $n = m + 1$  respectively. They will only affect  $\lambda_n^\pm$  when they reach  $p = m - 1$  (see equation (11)) that is, when  $n = 2m$  because  $\hat{u}_{2m-1}^+(m - 1)$  might be, and we shall prove it is, different from  $\hat{u}_{2m-1}^-(m - 1)$ . (17)

It follows from the above reasoning and equation (11) that

$$(12) \quad \lambda_{2m}^- - \lambda_{2m}^+ = -\frac{1}{2} [\hat{u}_{2m-1}^-(m - 1) - \hat{u}_{2m-1}^+(m - 1)].$$

Using equation (9) we obtain:

$$\begin{aligned} [\hat{u}_{2m-k}^-(m - k) - \hat{u}_{2m-k}^+(m - k)] &= \\ &= \frac{1}{2[m^2 - (m - k)^2]} [\hat{u}_{2m-(k+1)}^-(m - (k + 1)) - \hat{u}_{2m-(k+1)}^+(m - (k + 1))], \end{aligned}$$

and therefore

$$(13) \quad \hat{u}_{2m-1}^-(m - 1) - \hat{u}_{2m-1}^+(m - 1) = \left(-\frac{1}{2}\right)^{m-2} \prod_{k=1}^{m-2} \left(\frac{1}{m^2 - (m - k)^2}\right) [\hat{u}_{m+1}^-(1) - \hat{u}_{m+1}^+(1)].$$

It also follows from (9) with  $n = m + 1$  that

$$(14) \quad \hat{u}_{m+1}^-(1) - \hat{u}_{m+1}^+(1) = \frac{1}{(m^2 - 1)} \hat{u}_m^+(0),$$

and from (8):

$$(15) \quad \hat{u}_m^+(0) = -\frac{1}{2m^2} \hat{u}_{m-1}^+(1).$$

Once again, using (9)

$$\hat{u}_{m-k}^+(k) = -\frac{1}{2(m^2 - k^2)} \hat{u}_{m-(k+1)}^+(k+1),$$

thus

$$(16) \quad \hat{u}_{m-1}^+(1) = \left(-\frac{1}{2}\right)^{m-1} \prod_{k=1}^{m-1} \frac{1}{(m^2 - k^2)}.$$

Putting together equations (12)-(16):

$$(17) \quad \lambda_{2m}^- - \lambda_{2m}^+ = -\left(\frac{1}{2}\right)^{2m-1} \frac{1}{(2m-1)!^2},$$

which is the desired formula.

The case  $\lambda_0 = m^2\omega^2$  can be treated in a form completely analogous. We shall not repeat here the procedure, limiting ourselves to merely stating the final result

$$(18) \quad \lambda_{2m}^- - \lambda_{2m}^+ = -\left(\frac{1}{2\omega^2}\right)^{2m-1} \frac{1}{(2m-1)!^2}.$$

It is interesting to observe that when  $\lambda_0 = m^2$ , the zero-th order approximation corresponds to a non-zero  $\hat{u}$  coefficients and the  $\hat{v}$  ones appear at the first order approximation. In contraposition, in this second case, the zero-th order approximation is of  $\hat{v}$  type, but the  $\hat{u}$ 's are zero up to order  $m-1$ .

**3. Discussion of results and conclusions.** We have determined formulas for two types of solutions which bifurcate from  $\lambda_0 = m^2$  and  $\lambda_0 = m^2\omega^2$ , proving that in both cases the distance from the transition curves is of order  $2m$  in  $\varepsilon$ . The method employed, at least for these special solutions is, from the computational view-point, fast and accurate, making unnecessary to deal with small divisors or determinants of infinite matrices. In fact, the recursive system of equations (8-11) can be used not only for the determination of the width of the instability regions, but for actually finding asymptotic solutions of (2) to any desired order of approximation, giving also insight on different properties of the Fourier coefficients.

Much work remains to be done, for example, it would be desirable to extend the formulas to the more general form  $\lambda_0 = (m_1 + m_2\omega)^2/4$ ,  $m_1, m_2 \in \mathbb{Z}$

**4. Acknowledgments.** The reasearch for this paper was done while the author was visiting reasercher at the National Laboratory of Scientific Computing, Petrópolis-RJ, Brazil, January 1999, and was partially suported by the Brazilian National Research Council-CNPq, under projects number 007/97 and 352289/92 - 9.



## REFERENCES

- [1] W. Magnus and S. Winkler, *Hill's Equation*, Dover, New York, 1979.
- [2] J. J. Stoker, *Nonlinear Vibrations in Mechanical and Electrical Systems*, John Wiley & Sons, New York, 1950.
- [3] R. Campbell, *Théorie Générale de L 'Équation de Mathieu et de Quelques Autres Équations Différentielles de la Mécanique*, Masson et Cie., Paris, 1955.
- [4] R. S. Zounes and R. H. Rand, *Transition curves for the quasi-periodic Mathieu equation*, SIAM J. APPL. MATH, V 58, 4 (1998), pp 1094 – 1115.
- [5] D. Levy and J. Keller, *Instability intervals of Hill's equation*, Comm. Pure Appl. Math, 16 (1963), pp 469 – 476.
- [6] J. Kevorkian and J. D. Cole, *Perturbation Methods in Applied Mathematics*, Appl. Math Sc. 34, Springer-Verlag, New York, 1980.

ÚLTIMOS RELATÓRIOS DE PESQUISA E DESENVOLVIMENTO  
LATEST RESEARCH AND DEVELOPMENT REPORTS

- BITTENCOURT, M.L.; DOUGLAS, C.C. & FEIJÓO, R.A. – *Non-nested and non-structured multigrid methods applied to elastic problems. Part II: The three-dimensional case*, 15p. (RP&D N° 29/98)
- RIVERA, J.E.M. & ANDRADE, DOHERTY – *A boundary condition with memory in elasticity*, 8p. (RP&D N° 30/98)
- FRÉMOND, MICHEL – *Collision of a wedge with a plane*, 9p. (RP&D N° 31/98)
- GAO, HONGJUN & MA, TO FU – *Global solutions for a nonlinear wave equation with the p-Laplacian operator*, 9p. (RP&D N° 32/98)
- FERREIRA, JORGE; BENABIDALLASH, RACHID & RIVERA, J.E.M. – *Asymptotic behaviour for the nonlinear beam equation in a time-dependent domain*, 15p. (RP&D N° 33/98)
- RIVERA, J.E.M. & OQUENDO, HIGIDIO P. – *Existence and decay to contact problems for thermoviscoelastic plates*, 17p. (RP&D N° 34/98)
- RIVERA, J.E.M. & RACKE, REINHARD – *Workshop on Partial Differential Equations*, 48p. (RP&D N° 35/98)
- RIVERA, J.E.M. & ANDRADE, DOHERY – *A boundary condition with memory in elasticity*, 8p. (RP&D N° 36/98)
- CHACALTANA, J. T. AQUIJE & SILVA, A. F. TELES – *Nonlinear waves generated by a moving vertical plate*, 18p. (RP&D N° 37/98)
- VIEIRA, P.C.M. – *On stability of  $C_0$ -semigroups*, 11p. (RP&D N° 38/98)
- VIEIRA, P.C.M. & MALEBRANCHE, H. – *On uniformly stable  $C_0$ -semigroups*, 22p. (RP&D N° 39/98)
- VIEIRA, P.C.M. & MALEBRANCHE, H. – *Remarks on stability of infinite-dimensional linear systems*, 15p. (RP&D N° 40/98)
- SALDANHA DA GAMA, R.M. – *Modelling and simulation of the heat transfer process in a plate with a nonuniform temperature-dependent source*, 19p. (RP&D N° 41/98)
- SALDANHA DA GAMA, R.M. – *Simulation of steady-state nonlinear heat transfer problems through the minimization of quadratic functionals*, 26p. (RP&D N° 42/98)
- BÉZIAU, JEAN-YVES – *The mathematical structure of logical syntax*, 18p. (RP&D N° 43/98)
- BÉZIAU, JEAN-YVES – *Classical negation can be expressed by one of its Halves*, 7p. (RP&D N° 44/98)
- BÉZIAU, JEAN-YVES – *Applications de la logique paraconsistente à la justice et au droit*, 9p. (RP&D N° 45/98)